Fk2 5EEFEE 3 OLBFFFBEAKKX T > FEREXE FFaE—EX
2013/06/01 ~ 2013/06/01
2F NORIF—Ut>s5—
145 2{iL 3L AL 5% 64 7L 8{iL
B A B =3 kA EE =2 L B Z:3| AR £ =3 #BH#H =EHE 53 FMAEERA =3 BTHAH =3 AN B &2
50m L/NII =Ryt E | TEBfER wi)ia A BmEX TEBfER BEFX
RPN 2410 2422 2438 2454 2454 2457 24.58 24.62
(F14£L)
HikE Nk BK &1 thHF 1A 53| BXx #K =1 #bL #MF 52| B4 #Ht 52| g E 53| NE R} 52 ZEREEREN 51
50m BEFX RETE BEX BEX mainn TEBRfESR ASLHEF TEBRfER
A LR 26.34 27.40 2756 27.68 27.84 27.84 27.98 28.09
([E54L)
FkE IMNE RIE F3] WX |5 B3] AHF BE O S1] JIDEKRER =1 kA EE 52 XL BE 53 #EO wth 52 MNE #F 52
50m EA8E BmEX TEBfER 3=k =Ryt B 3LHD BmEFX REE
RPN 29.82 29.85 30.24 30.62 30.62 30.71 30.80 30.80
(F14£L) (F174L)
INEZTSA REZEA 32 Al B 32 #HiK B— =3 = X =2 #) Hm B3 MAEERA =3 WEW E S £ KBSt
50m KE BEX Jilode 2% SLAHE BEX BEX o)
A LR 25.24 25.64 26.09 26.25 26.31 26.34 26.42 26.59
JL— BEFR = M) =) TExERX 7 £ = LN = BI#EN = FEFE B ) =
200m | B & &2 A& B 3 LEF E 3| MHE EEF 52| W0 Bx 53 kA BHEE 52| Bk #E 52 =B BEE &3
AALRE WK BS B3 kA XK 52 BTHXA#H =3 BE B =1 %LU #KX B3 =HfER 83 Al Bz 851 I8 %= &3
K T B2 E4ABE B2 BH BE =1 HH R 52 BN KE 53 #HK ®wE 53 =2H BF 53 mEk @t &3
FIAEER =3 AR % =3 ek = =2 BEZBEA =20 88 & =3 XU B =3 &H K0 =2 =3 2@ =3
1:35.94 Fin. 1:37.98 Fin. 1:38.51 Fin. 1:38.72 Fin. 1:39.00 Fin. 1:39.28 Fin. 1:39.30 Fin. 1:40.80 Fin.
2418 1st. 24.94 1st. 24.77 1st. 25.10 1st. 23.81 1st. 24.20 1st. 24.79 1st. 25.09 1st.
ARL—1JL— BEFX = ERERX =B BIENN 5 ny) = main =) FEFR =B £ = N =
200m| A BX B =EEAEZEHR =51 FER B =1 )l B2 &1 E4AKBE 52| Exk #F# 52| B0 % 53 XK &K &2
ALLREE BF BE 52 BH BE B1 XU BE O S3 4R KE S &R BF 53 B Kb 53 BE OE 51 #E BX 53
AN B 32| ¥HO HE 53 ZEMER 53] BEA —F 52 BXK @t 52 =H BFE 53 BEEZEA 52 TE #&F &3
MAEER =3 BTHAH =3 RHE EE =2 #F B =1 AR F* &3 #@E R/ =3 #HF EEF B2 AEFRKHM 52
1:44.17 Fin 1:47.98 Fin 1:48.50 Fin. 1:48.80 Fin 1:49.72 Fin 1:50.21 Fin 1:51.60 Fin. 1:52.40 Fin
26.32 1st. 28.03 1st. 29.62 1st. 2714 1st. 28.51 1st. 28.32 1st. 29.73 1st. 29.22 1st.
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Fk2 5EEFEE 3 OLBFFFBEAKKX T > FEREXE X FRE—EX
2013/06/01 ~ 2013/06/01
2F NORIF—Ut>s5—
145 2{iL 3L AL 5% 64 7L 8{iL
B Bl &1 MBEFF 52 HH BE 52 XM ETHh S BK #HE B3 REHEF B3 BI EBF B3 #HE & &3
50m BEFR BmEX HME—XF TEBfER 58 TERRfER FEFE )
RPN 26.77 27.21 27.31 27.39 27.42 27.59 27.67 27.77
HikE BFE BRE &1 BIEF B3 HB HE B3 MK BE B HEBE ¥ B33 RHFH EE 52 REENTF 51| BR =2 52
50m BEFX FEZE HMAFE TEBRfER HEZE BEX TEBRfER BEFR
A LR 29.10 29.70 29.75 29.96 30.20 30.35 30.49 30.67
(K<
FkE * BE =1 /JEEREDN 52 BE&R M 51| SEREE 52 WBH#F EE 52 WHEoF 51 ZER GBH O OS1| FE OB O S1
50m TEmEfESR FEFE KER ) ny) K=t 2% RET
RPN 33.97 34.18 34.31 3462 34.85 35.04 35.25 35.37
INFTSA EERER 52 BIXs Bl AF HE Bl ESIKE B33 XN %1 81 Bk BEx 53 SR8 »A B £H & B3
50m ®mE BEX BEX HmE TEBRfESR BEX BEX HMAFE
A LR 28.20 28.34 28.56 29.06 29.24 29.34 29.35 2953
JL— BEFR = o) = EfEx 5 | BNE—%F 5 FEFR =B RER = = V)1 = ALHEHE B
200m BlXs Bl RERELAF &2 AW X 51| +H BE 52 EI BF 53 BlEF&HN S| &8 B 52 #HE K& &1
ALLRE BHR IHE &1 Bl mE 53 REHAEF B3 EH tF =51 RH % =3 WHA XE B BH XE 52 EE T &l
O £ 52 S8 F& 53 REEMF 51 TERHGE 53 HAT BAE 53 BBl 51| #F 8 52| KBEEEF 51
IMNUBFIF B2 SEHREEX B2 EH B 53] B8R FM 53 XH BE 53 F EB 53 kB #F 53 AHE FE &3
1:46.85 Fin. 1:49.48 Fin. 1:49.81 Fin. 1:53.50 Fin. 1:53.80 Fin 1:54.39 Fin. 1:56.18 Fin. 1:56.54 Fin.
26.49 1st. 28.41 1st. 27.40 1st. 27.24 1st. 271.72 1st 28.17 1st. 28.02 1st. 28.04 1st.
(R£HD) 1st.
ARL—1JL— BEFX = ERERX =B ) = HEFE B FEFR 5  #BNE—ZF =5 RER = 2% =
200m | B XE S2 # FTE S SEKEZX 52 $BE Et 53 EI BF &3 #F £ 53 NHE RE 51| EAREXx 53
AMLREE B0 £ J2) K BE B #KH EE 52 BR #®E &1 XA R 53 EHHF tF =1 BSEIEFK B/ ZFE GE S
BlIIXKE B f%gEApE 53 RA/INKE =3 £H B =3 BE ExX 53 TEEKE 53 #4ALBY =3 AB BEXE =3
BF BE &1 X ¥R &1 4l mE &3 BU %S 52 XFH BE 53 TH BE 52 EiIEFAH B BEEEF 53
1:56.11 Fin. 1:58.81 Fin 2:00.02 Fin. 2:02.96 Fin 2:03.19 Fin 2:04.92 Fin 2:05.16 Fin. 2:07.25 Fin
(K<
30.24 1st. 30.09 1st. 29.56 1st 31.09 1st. 30.08 1st. 33.80 1st. 32.29 1st. 32.27 1st.
(R=HD 1st.
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